

Pay Estimate Created Date: February 16, 2023

Progress Estimate N 9	lumber	Contract ID Prime Contractor	Contract ID 220520-G04 Prime Contractor Sprouls Construction, In		Pay Period Start Pay Period End			Original Contract Amount Net Change Order Amount Current Contract Amount	\$917,416.70 \$27,656.00 \$945,072.70	
Approval Date									By User	
February 16, 2023		he Project Office Level by	dejesw1							
February 16, 2023			Reviewed and App	roved (an	d should be conside	ered Draft)	at the Re	esident Engineer Level by	koestg1	
February 17, 2023				Reviewe	d and Approved at	the Centra	al Office C	Controllers Office Level by	ramses1	
Original Completio	n Date	Current Co	mpletion Date	Act	ual Completion Da	ate	% o	f Current Contract Amount	Complete	
March 15, 202	3	March	15, 2023					94.16%		
	Contract	Informational Dat	tes		Milest	ones				
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones Ex	kist for Co	ntract			
Acceptance Date										
Awarded Date	June 2, 2	022	June 2, 2022							
Letting Date	May 20, 2	2022	May 20, 2022							
Notice to Proceed Date	July 5, 20)22	July 5, 2022							
Open to Traffic Date										
Work Began Date	October	10, 2022	October 10, 2022							

Contract Total Pay For Estimate No. 9

		This Estimate	Previous	To Date
220520-G04				
	Total Posted Items Pay	\$145,691.40	\$744,151.70	\$889,843.10
	Gross Item Adjustments	\$1,322.42	(\$2,226.74)	(\$904.32)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$741,924.96	\$888,938.78
Contract Total Payable	e This Estimate:	\$147,013.82		

Items Paid This Estimate Period

Project	Line	Item	Item Description	Unit	Unit Price	Current Installed	Current Installed
Number	Number	Code				Qty	Amount
J7S3367E	0020	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	LF	\$18.000	124.7	\$2,244.60
	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.000	98.9	\$1,186.80
	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.000	82.4	\$988.80
	0060	6039902	WATER	EA	\$1,400.000	4	\$5,600.00
	0070	6081010	CONCRETE CURB RAMP	SQYD	\$140.000	80.8	\$11,312.00
	0080	6081012	TRUNCATED DOMES	SQFT	\$60.000	869	\$52,140.00
	0090	6085008	PAVED APPROACH, 8 IN.	SQYD	\$120.000	13.1	\$1,572.00
	0100	6086004	CONCRETE SIDEWALK, 4 IN.	SQYD	\$75.000	148.4	\$11,130.00
	0110	6086008	CONCRETE SIDEWALK, 8 IN.	SQYD	\$110.000	1.8	\$198.00
	0120	6091052	CURB AND GUTTER TYPE B	LF	\$50.000	204.1	\$10,205.00
	0140	6149902	MISC.ADJUST MANHOLE LID	EA	\$4,000.000	1	\$4,000.00
	0150	6161005	CONSTRUCTION SIGNS	SQFT	\$8.000	180	\$1,440.00
	0170	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.000	46	\$736.00
	0180	6161030	TYPE III MOVEABLE BARRICADE	EA	\$150.000	1	\$150.00
	0230	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	EA	\$125.000	24	\$3,000.00
	0260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$10,000.000	1	\$10,000.00
	0310	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$845.000	3.6	\$3,042.00
	0320	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	EA	\$91.800	2	\$183.60
	0330	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$21.050	416	\$8,756.80



Pay Estimate Created Date: February 16, 2023

Progress Es	stimate Numb 9					Original Contract An Net Change Order A Current Contract Ar	mount \$27,656.00
Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7S3367E	0340	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	LF	\$62.300	78	\$4,859.40
	0350	9035004A	SH-FLAT SHEET	SQFT	\$32.200	332	\$10,690.40
	5001	7250415	15 IN. PIPE GROUP C	LF	\$94.000	24	\$2,256.00
Project J7S33	67E - Total						\$145,691.40
Overall - Total							\$145,691.40

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
17S3367E	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	36.4	(\$0.22)	(\$8.14)
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	62.5	(\$0.22)	(\$13.97)
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Fuel Price Adjustment		The system generated fuel adjustment is incorrect. this adjustment will zero the system generated fuel adjustment.			\$22.11
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Fuel Price Adjustment		This adjustment reflects the amount shown on the fuel adjustment calculation sheet. (-1.50 x 98.90) x 0.15 = -\$22.25			(\$22.25)
	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	82.4	(\$0.22)	(\$18.42)
	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Fuel Price Adjustment		The system generated fuel adjustment is incorrect. this adjustment will zero the system generated fuel adjustment.			\$18.42
	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	Fuel Price	This adjustment reflects the amount shown on the fuel adjustment calculation sheet. (-1.50 x 82.40) x 0.15 = -\$18.54			(\$18.54)
	0090	PAVED APPROACH, 8 IN.	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	13.1	(\$0.89)	(\$11.71)
	0090	PAVED APPROACH, 8 IN.	Other Item Adjustment	Fuel Price	The system generated fuel adjustment is incorrect. this adjustment will zero the system generated fuel adjustment.			\$11.71
	0090	PAVED APPROACH, 8 IN.	Other Item Adjustment	Fuel Price	This adjustment reflects the amount shown on the fuel adjustment calculation sheet. (-1.50 x 13.10) x 0.6 = -\$11.79			(\$11.79)
	0130	MISC.	MaterialCredit			11	\$125.00	\$1,375.00
otal								\$1,322.42



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatio	n						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J7S3367E	FAS S603(56)	ADA Improvements	W, BB	VERNON	in Nevada								
Totals by Jo	b Number	S											
J7S3367E		Item Pay Item Adjustmen	ts <mark>Gross Ite</mark>	em Pay	This Estimate \$145,691.40 \$1,322.42 \$147,013.82	Previous \$744,151.70 (\$2,226.74) \$741,924.96	To Date \$889,843.10 (\$904.32) \$888,938.78						
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

ote: Posted Quantities and Values are based on Report Gener ated date and can differ from the posted amount at the time the Estimate was Generated.

: Posted Q	uantities a	nd Value	s are ba	ised on Re	port Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	as Gene	rated.		
Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
520-G04	J7S3367E	0001	0010	2063000	CLASS 3 EXCAVATION	6.00	0.00	6.00	CUYD	6.00	\$100.00	\$600.00
		0001	0020	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	6,570.00	0.00	6,570.00	LF	6,570.00	\$18.00	\$118,260.00
		0001	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	3,337.00	0.00	3,337.00	SQYD	3,310.30	\$12.00	\$39,723.60
		0001	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,053.00	0.00	1,053.00	SQYD	1,035.40	\$12.00	\$12,424.80
		0001	0050	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	388.30	0.00	388.30	SQYD	388.30	\$110.00	\$42,713.00
		0001	0060	6039902	WATER	14.00	0.00	14.00	EA	13.00	\$1,400.00	\$18,200.00
		0001	0070	6081010	CONCRETE CURB RAMP	854.70	0.00	854.70	SQYD	849.10	\$140.00	\$118,874.00
		0001	0080	6081012	TRUNCATED DOMES	869.00	0.00	869.00	SQFT	869.00	\$60.00	\$52,140.00
		0001	0090	6085008	PAVED APPROACH, 8 IN.	270.60	0.00	270.60	SQYD	261.70	\$120.00	\$31,404.00
		0001	0100	6086004	CONCRETE SIDEWALK, 4 IN.	2,481.90	0.00	2,481.90	SQYD	2,481.90	\$75.00	\$186,142.50
		0001	0110	6086008	CONCRETE SIDEWALK, 8 IN.	221.80	0.00	221.80	SQYD	221.80	\$110.00	\$24,398.00
		0001	0120	6091052	CURB AND GUTTER TYPE B	515.00	0.00	515.00	LF	515.00	\$50.00	\$25,750.00
		0001	0130	6099903	MISC.MODIFIED TYPE A GUTTER WITH STEEL PLATE	11.00	0.00	11.00	LF	11.00	\$125.00	\$1,375.00
		0001	0140	6149902	MISC.ADJUST MANHOLE LID	5.00	6.00	11.00	EA	10.00	\$4,000.00	\$40,000.00
		0001	0150	6161005	CONSTRUCTION SIGNS	327.00	48.00	375.00	SQFT	308.00	\$8.00	\$2,464.00
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$75.00	\$150.00
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	100.00	46.00	146.00	EA	146.00	\$16.00	\$2,336.00
		0001	0180	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$150.00	\$900.00
		0001	0190	6161033	DIRECTIONAL INDICATOR BARRICADE	5.00	0.00	5.00	EA	5.00	\$50.00	\$250.00
		0001	0200	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0210	6161052	WARNING LIGHT, TYPE B	8.00	-8.00	0.00	EA	0.00	\$40.00	\$0.00
		0001	0220	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0001	0230	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	10.00	24.00	34.00	EA	34.00	\$125.00	\$4,250.00
		0001	0240	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$110,000.00	\$110,000.00
		0001	0250	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	103.00	0.00	103.00	EA	0.00	\$250.00	\$0.00
		0001	0260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000.00
		0001	0270	7250418	18 IN. PIPE GROUP C	24.00	-24.00	0.00	LF	0.00	\$100.00	\$0.00
		0001	0280	8031000A	TURF TYPE TALL FESCUE SODDING	2,001.00	0.00	2,001.00	SQYD	0.00	\$10.00	\$0.00
		0001	0290	8061007A	CURB INLET CHECK	46.00	0.00	46.00	EA	46.00	\$175.00	\$8,050.00
		0001	0300	8061016	SEDIMENT REMOVAL	46.00	0.00	46.00	CUYD	23.00	\$50.00	\$1,150.00
		0040	0310	9031010	CONCRETE FOOTINGS, EMBEDDED	3.60	0.00	3.60	CUYD	3.60	\$845.00	\$3,042.00
		0040	0320	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	2.00	0.00	2.00	EA	2.00	\$91.80	\$183.60
		0040	0330	9031280	2.5 IN. PSST POST - 12 GA.	416.00	0.00	416.00	LF	416.00	\$21.05	\$8,756.80
		0040	0340	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	78.00	0.00	78.00	LF	78.00	\$62.30	\$4,859.40
		0040	0350	9035004A	SH-FLAT SHEET	332.00	0.00	332.00	SQFT	332.00	\$32.20	\$10,690.40
		0001	5001	7250415	15 IN. PIPE GROUP C	0.00	24.00	24.00	LF	24.00	\$94.00	\$2,256.00
	Project J75	63367E - To	otal Value	Posted to D	ate as of Report Generated Date							\$889,843.10
520-G04 Ove	erall - Total V	alue Poste	ed to Date	as of Repo	rt Generated Date							\$889,843.10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line umber	Item Code	Description	DWR Date	DWR Approval	Quantity Posted	Units	Location	From Station/	Offset/ Distance	To Station/	Offset/ Distance	Comments
0020	2070003	MISC. GRADING	2/10/23	Date 2/16/23	124.70	16	Route W	Log Mile 27+23.82		Log Mile 74+21.03		Quantity posted represents remaining unpaid plan
												quantity.
0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	2/2/23	2/6/23	7.20	SQYD	Route W and Cherry Street.	73+50.06		74+34.42		On 2-2-2023 the contractor placed 7.2 SQ YDS of type aggregate under the 4-inch sidewalk from station 73+50.06 to station 74+34.42.
				2/6/23	10.90	SQYD	Route W and Cherry Street.	73+54.82		73+77.95		On 2-2-2023 the contractor placed 10.9 SQ YDS of type aggregate under the concrete curb and gutter from stati 73+54.82 to station 73+77.95.
				2/6/23	18.30	SQYD	Route W/Cherry Street.	73+55.06		73+74.96		On 2-2-2023 the contractor placed 18.3 SQ YDS of type aggregate under the concrete curb ramp from station 73+55.06 to station 73+74.56.
			2/10/23	2/16/23	4.60	SQYD	Route W Right.	36+38.85		36+45.85		paid plan quantity work completed on December 12.
				2/16/23	15.90	SQYD		74+13.26		74+27.19		Paid plan quantity.
				2/16/23	20.50	SQYD		74+10.98		74+30.43		paid plan quantity.
				2/16/23	21.50	SQYD	Route W at Cherry St.	73+52.75		73+71.83		modifications were made quantity to be adjusted with change order to this section plan quantity paid.
0040	3040504	TYPE 5 AGGREGATE FOR BASE	2/10/23	2/16/23	7.60	SQYD	Route W, Left.	74+10.76		74+22.67		Paid plan quantity.
				2/16/23	7.70			73+52.79		73+74.39		paid plan quantity.
				2/16/23	8.10		5	54+63.31		54+81.46		paid plan quantity.
				2/16/23	8.60 8.60	SQYD SQYD	5	50+89.12 74+08.48		51+09.02 74+30.42		paid plan quantity. Paid plan quantity.
				2/16/23	9.20	SQYD	Route W Right	50+33.04		50+55.59		paid plan quantity.
				2/16/23	14.00	SQYD		20+17.81		21+17.84		paid plan quantity.
				2/16/23	18.60	SQYD	Route W left.	39+85.76		39+85.76		payment reflecting work that was completed on Novemb
0060	6020002	WATER - UTILITY ITEM	2/10/22	2/16/23	1.00	EA	Route BB, Left.	19+03.89		19+03.89		9. paid plan quantity.
0000	0039902	WATER- UTEIT TEM	2/ 10/23	2/16/23	1.00		Route BB, Left. Route W, Right.	19+03.89 61+27.05		61+27.05		paid plan quantity.
				2/16/23	1.00		Route W, Right.	70+46.09		70+46.09		paid plan quantity.
				2/16/23	1.00	EA	Route W, Right.	74+13.35		74+13.35		paid plan quantity.
0070	6081010	CONCRETE CURB RAMP	2/2/23	2/6/23	18.30	SQYD	Route W and Cherry Street.	73+55.06		73+74.56		On 2-2-2023 the contractor poured 18.3 SQ YDS of concrete curb ramp from station 73+55.06 to station 73+74.56.
			2/10/23	2/16/23	4.60	SQYD	Route W Right.	36+38.85		36+45.85		paid plan quantity work completed on December 12.
				2/16/23	15.90	SQYD	Route W Cherry St. Left.	74+13.26		74+27.19		paid plan quantity.
				2/16/23	20.50	SQYD	Route W at Cherry St. Right	74+10.98		74+30.43		paid plan quantity.
				2/16/23	21.50	SQYD	Route W at Cherry St.	73+52.75		73+71.83		modifications were made quantity to be adjusted with change order to this section plan quantity paid.
0080	6081012	TRUNCATED DOMES	2/10/23	2/16/23	307.20	SQFT	Route BB	3+56.10		23+26.36		Paid plan quantity for all truncated domes on Route BB
				2/16/23	561.80	SQFT	Route W	27+20.43		74+18.53		Paid plan quantity for all truncated domes on Route W
0090	6085008	PAVED APPROACH, 8 IN.	2/10/23	2/16/23	13.10	SQYD	Route W Left.	39+85.76		39+85.76		payment made for work completed on November 9. pai
0100	6086004	CONCRETE SIDEWALK, 4 IN.	2/2/23	2/6/23	7.20	SQYD	Route W and Cherry Street.	73+50.06		74+34.42		plan quantity. On 2-2-2023 the contractor poured 7.2 SQ YDS of 4-ind sidewalk from station 73+50.06 to station 74+34.42
			2/10/23	2/16/23	141.20	SQYD	Route W	27+20.79		74+71.52		Paid up to plan quantity.
0110	6086008	CONCRETE SIDEWALK, 8 IN.	2/10/23	2/16/23	1.80	SQYD	Route W Left.	39+85.76		39+85.76		payment made for work completed on November 9. pair plan quantity.
0120	6091052	CURB AND GUTTER TYPE B	2/2/23	2/6/23	32.60 6.10		Route W and Cherry Street. Route W, Right.	73+54.82 74+08.48		73+77.95		On 2-2-2023 the contractor poured 32.6 SQ YDS of cur and gutter from station 73+54.82 to station 73+77.95. plan quantity for this location is 25.9. the overrun will be
			2/10/20	2/10/20								addressed on a change order.
				2/16/23	22.90		Route W, Left	74+10.76		74+22.67		Paid plan quantity.
				2/16/23	23.00		Route W, Left.	73+52.79		73+74.39		paid plan quantity.
				2/16/23	24.20 25.70		Route W Right Route W Right	54+63.31 50+89.12		54+81.46 51+09.02		paid plan quantity.
				2/16/23	27.60		Route W Right	50+33.04		50+55.59		plan quantity paid
				2/16/23	42.00		Route BB Right.	20+75.8		21+17.84		paid plan quantity.
0140	6149902	MISC. DRAINAGE FITTINGS	2/10/23	2/16/23	1.00	EA	Route W. Left	73+57.68		73+57.68		Manhole Adjusted paid plan quantity.
0150	6161005	CONSTRUCTION SIGNS	2/10/23	2/16/23	20.00	SQFT	Route W	25+00.00		60+00.00		Paid plan quantity.
				2/16/23			Routes W and BB	25+00.00		24+00.00		Shoulder work ahead x2
				2/16/23	48.00		Route W	25+00.00		60+00.00		Reflects quantity change indicated on Change order 00
0170	0404005		0/40/00	2/16/23	80.00		Route W Route W	25+00.00		60+00.00		Road Work ahead x5 used for city side street.
0170		CHANNELIZER (TRIM LINE) TYPE III MOVEABLE BARRICADE		2/16/23 2/16/23	46.00		Route W	25+00.00 25+00.00		60+00.00 60+00.00		Reflects quantity change indicated on Change order 000 Paid plan quantity
0230		MISC. TRAFFIC CONTROL DEVICES		2/16/23	24.00		Route W	25+00.00		60+00.00		Reflects quantity change indicated on Change order 00
0260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	2/10/23	2/16/23	1.00		Routes W/BB	25+00.00		24+00.00		Work completed paid plan quantity.
0310	9031010	CONCRETE FOOTINGS, EMBEDDED	2/2/23				Route BB.					On 2-3-2023 the contractor installed 1.5 Cubic yards of Concrete Footings Embedded on Route BB.
				2/6/23	2.10	CUYD	Route W.					On 2-2-2023 the contractor installed 2.1 Cubic yards of Concrete Footings Embedded on Route W.
0320		36 IN. SURFACE-MOUNT DELINEATOR POST	2/2/23	210/20	2.00		Route BB.	23+28.99				On 2-2-2023 the contractor installed 2 36" Surface Mounted Delineator Posts at station 23+28.99
0330	9031280	2.5 IN. PSST POST - 12 GA.	2/2/23	2/6/23	176.00 240.00		Route BB. Route W.					On 2-2-2023 the contractor installed per plan 176 LF of PSST Post on Route W. On 2-2-2023 the contractor installed per plan 240 LF of
0340	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	2/2/23		33.00		Route BB.					On 2-2-2023 the contractor installed per plan 240 LP of PSST Posts on Route W. On 2-2-2023 the contractor installed 33 LF of PSST Po
				2/6/23	45.00		Route W.					anchors on Route BB. On 2-2-2023 the contractor installed 45 LF of Post
					332.00		Route W. Route BB/Route W.					Anchors on Route W. On 2-2-2023 the contractor installed 45 LP of Post On 2-2-2023 the contractor installed per plan 332 SQ F
0350	9035004A	SH-FLAT SHEET	2/2/23	2/0/23	002.00	OQUI						of Signs on Route BB and Route W.

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Feb 18, 2023

Contract ID: 220520-G04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
J7S3367E	0030	TYPE 1 AGGREGATE	Other Item Adjustment	FUEL	9	Feb 16, 2023	dejesw1	\$22.11	The system generated fuel adjustment is incorrect. this adjustment will zero the system generated fuel adjustment.										
		FOR BASE (4 IN. THICK)			9	Feb 16, 2023	dejesw1	(\$22.25)	This adjustment reflects the amount shown on the fuel adjustment calculation sheet.										
									(-1.50 x 98.90) x 0.15 = -\$22.25										
				FUEL - Total				(\$0.14)											
			Other Item Ad	justment - To	tal			(\$0.14)											
			Price FUEL		2	Nov 2, 2022	SYSTEM	(\$110.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					3	Nov 16, 2022	SYSTEM	(\$10.46)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					4	Dec 2, 2022	SYSTEM	(\$12.44)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
				5	Dec 16, 2022	SYSTEM	(\$266.43)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				7	Jan 17, 2023	SYSTEM	(\$66.71)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				8	Feb 1, 2023	SYSTEM	(\$34.99)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					9	Feb 16, 2023	SYSTEM	(\$22.11)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
				- Total				(\$523.31)											
			Price FUEL - 1	lotal				(\$523.31)											
	0030 -							(\$523.45)											
	0040	0 TYPE 5 AGGREGATE FOR BASE	Other Item Adjustment	FUEL		Jan 3, 2023	smallj1	(\$0.45)	See Fuel adjustment work sheet.										
							6	Jan 3, 2023	smallj1	\$3.17	See fuel adjustment sheet.								
					9	Feb 16, 2023	dejesw1	\$18.42	The system generated fuel adjustment is incorrect, this adjustment will zero the system generated fuel adjustment.										
																9	Feb 16, 2023	dejesw1	(\$18.54)
									(-1.50 x 82.40) x 0.15 = -\$18.54										
				FUEL - Tota	ıl			\$2.60											
			Other Item Ad	justment - To	tal			\$2.60											
			Price FUEL	Price FUEL	Price FUEL	Price FUEL	Price FUEL	Price FUEL	Price FUEL	Price FUEL	Price FUEL		2	Nov 2, 2022	SYSTEM	(\$5.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
					3	Nov 16, 2022	SYSTEM	(\$8.05)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					4	Dec 2, 2022	SYSTEM	(\$6.92)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					5	Dec 16, 2022	SYSTEM	(\$81.44)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					6	Jan 3, 2023	SYSTEM	(\$3.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					7	Jan 17, 2023	SYSTEM	(\$3.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					9	Feb 16, 2023	SYSTEM	(\$18.42)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
				- Total				(\$126.99)											
			Price FUEL - 1	lotal				(\$126.99)											
	0040 -	Total						(\$124.39)											
	0050	CONCRETE PAVEMENT (8 IN. NON-	Price FUEL		3	Nov 16, 2022	SYSTEM	(\$16.90)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
		(8 IN. NON- REINF)			4	Dec 2, 2022	SYSTEM	(\$21.08)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
					5	Dec 16, 2022	SYSTEM	(\$60.31)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL										
				- Total				(\$98.29)											



Line Item Adjustments by Estimate

Feb 18, 2023

Contract ID: 220520-G04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J7S3367E	0050	CONCRETE PAVEMENT (8 IN. NON- REINF)	Price FUEL - T	otal				(\$98.29)				
	0050 -	Total						(\$98.29)				
	0090	PAVED APPROACH,	Other Item Adjustment	FUEL	9	Feb 16, 2023	dejesw1	\$11.71	The system generated fuel adjustment is incorrect. this adjustment will zero the system generated fuel adjustment.			
		8 IN.			9	Feb 16, 2023	dejesw1	(\$11.79)	This adjustment reflects the amount shown on the fuel adjustment calculation sheet.			
									(-1.50 x 13.10) x 0.6 = -\$11.79			
				FUEL - Tota	l			(\$0.08)				
			Other Item Adj	ustment - To	tal			(\$0.08)				
			Price FUEL		2	Nov 2, 2022	SYSTEM	(\$13.88)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
								3	Nov 16, 2022	SYSTEM	(\$9.62)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
										5	Dec 16, 2022	SYSTEM
					7	Jan 17, 2023	SYSTEM	(\$10.26)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
					9	Feb 16, 2023	SYSTEM	(\$11.71)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
				- Total				(\$158.11)				
			Price FUEL - T	otal				(\$158.11)				
	0090 -	Total						(\$158.19)				
	0100	CONCRETE SIDEWALK, 4 IN.	Material		2	Nov 2, 2022	SYSTEM	\$40,042.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user dejesw1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					2	Nov 2, 2022	SYSTEM	(\$40,042.50)				
				- Total				\$0.00				
			Material - Tota					\$0.00				
	0100 -	Total						\$0.00				
	0130	MISC. PAVED	Material		8	Feb 1, 2023	SYSTEM	(\$1,375.00)				
		DRAINAGE		- Total				(\$1,375.00)				
			Material - Tota					(\$1,375.00)				
			MaterialCredit		9	Feb 16, 2023	SYSTEM	\$1,375.00				
				- Total				\$1,375.00				
			MaterialCredit	- Total				\$1,375.00				
	0130 -	· Total						\$0.00				
J7S3367E -	Total							(\$904.32)				
Overall - T	otal							(\$904.32)				